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β̂ t R̂2 R2(50%) %(̂R2)

data data data BY BKY BY BKY

∑J
j=1 (rm,t+j − rf ,t+j) = α + β(pt − dt) + εt+j

1 Y −0.093 −1.803 0.044 0.007 0.011 0.918 0.841
3 Y −0.264 −3.231 0.170 0.017 0.028 0.980 0.940
5 Y −0.413 −3.781 0.269 0.025 0.043 0.990 0.956

4 Q −0.119 −2.625 0.090 0.008 0.012 0.980 0.952
12 Q −0.274 −3.191 0.187 0.022 0.033 0.970 0.933
20 Q −0.424 −3.365 0.257 0.033 0.050 0.969 0.926∑J

j=1 (�ct+j) = α + β(pt − dt) + εt+j

1 Y 0.011 1.586 0.060 0.324 0.145 0.006 0.202
3 Y 0.010 0.588 0.013 0.350 0.109 0.002 0.132
5 Y −0.001 −0.060 0.000 0.285 0.085 0.001 0.015

4 Q 0.000 0.140 0.000 0.237 0.063 0.000 0.023
12 Q −0.002 −0.296 0.001 0.269 0.068 0.003 0.069
20 Q −0.003 −0.296 0.002 0.213 0.060 0.014 0.089∑J

j=1 (�dt+j) = α + β(pt − dt) + εt+j

1 Y 0.074 1.977 0.092 0.404 0.194 0.001 0.165
3 Y 0.107 1.330 0.059 0.320 0.084 0.015 0.399
5 Y 0.089 1.214 0.039 0.255 0.061 0.039 0.401

4 Q 0.003 0.112 0.000 0.159 0.026 0.001 0.043
12 Q 0.012 0.193 0.001 0.180 0.029 0.011 0.115
20 Q 0.044 0.482 0.011 0.147 0.033 0.084 0.302

Table 4. Predictability of excess returns, consumption, and dividends.
The long-run risks model, especially the BY calibration, has much more cash flow predictability and much
less excess return predictability than the data. Columns 2–4 of Table 4 display coefficients, T-statistics,
and R-squared statistics from predictive regressions of excess returns, consumption growth, and dividend
growth on log price-dividend ratios in the 1930–2008 annual and 1947.2–2008.4 quarterly datasets.
Throughout the table, the first part of each panel displays annual results and the second quarterly. The
next two columns following the data moments display the median R-squared statistics from finite sample
simulations of the two calibrations. The last two columns report the percentile of the data moment for
the model in both calibrations. Standard errors are Newey–West with 2∗(horizon-1) lags. The medians
are from 100,000 samples of equivalent length to the data (948 or 741 months), and the percentile is
the proportion of those samples with an estimate at or below that of the data.The percentile is in bold
when the data moment is rejected by a 5 percent one-sided test or a 10 percent two-sided test.


